
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

6th Month, 4th Week, 3rd Day Revision Exercise 5 Q # (8 to 11)

 Answer the following questions:  
Q.1. The mean of 8, 9, 10, 14 and x is 10. Find the value of the observation x.

(1x2=2)

 x  10  x  141098
Q.2. Find mean, median and mode of the given data.      (1x3=3)


57, 69, 68, 74, 57, 58, 65, 69, 70, 80

Q.3. The mean of 15 observations was calculated 200. It was found on

rechecking that the value 125 was wrongly copied as 152. Find the

correct mean.     (1x5=5)

 152  125  200  15


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